-											
County											
Estimate	March 12, 2012 10:00 AM Attendees: Bev Romanoff, Mike Hankey, Marty Salerno, Gary Salavtich, Alan Wenderski (All VOHE)			2012 STREET REVITALIZATION PROJECT - ENGINEERS ESTIMATE		Schroeder Asphalt Services, Inc. PO Box 831 Huntley, IL 60142		Arrow Road Construction Co. 3401 South Busse Road PO Box 334 Mount Prospect, IL 60056-0334		Johnson Paving 1025 East Addison Court Arlington Heights, IL 60005	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
01	EARTH EXCAVATION	CU YD	6,354	\$29.25	\$185,854.50	\$21.50	\$136,611.00	\$31.25	\$198,562.50	\$38.00	\$241,452.00
02	FURNISHED EXCAVATION	CU YD	276	\$25.00	\$6,900.00	\$19.00	\$5,244.00	\$33.00	\$9,108.00	\$30.00	\$8,280.00
03	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIALS	CU YD	3,611	\$26.00	\$93,886.00	\$21.50	\$77,636.50	\$17.50	\$63,192.50	\$5.00	\$18,055.00
04	POROUS GRANULAR EMBANKMENT	CU YD	1,278	\$26.00	\$33,228.00	\$26.00	\$33,228.00	\$19.00	\$24,282.00	\$4.00	\$5,112.00
05	SUBBASE GRANULAR MATERIAL, TYPE B, 6 INCH	SQ YD	22,723	\$6.75	\$153,380.25	\$4.65	\$105,661.95	\$6.00	\$136,338.00	\$6.00	\$136,338.00
06	AGGREGATE, SPECIAL	TON	4,328	\$14.50	\$62,756.00	\$11.00	\$47,608.00	\$11.00	\$47,608.00	\$2.00	\$8,656.00
07	AGGREGATE FOR TEMPORARY ACCESS	TON	1,232	\$20.00	\$24,640.00	\$5.00	\$6,160.00	\$11.00	\$13,552.00	\$2.00	\$2,464.00
08	SUBBASE GRANULAR MATERIAL, 3 INCH, SPECIAL	FOOT	1,585	\$4.50	\$7,132.50	\$3.75	\$5,943.75	\$0.50	\$792.50	\$1.70	\$2,694.50
09	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	22,723	\$1.10	\$24,995.30	\$0.85	\$19,314.55	\$0.60	\$13,633.80	\$1.00	\$22,723.00
10	VARIABLE DEPTH GRINDING, (0" TO 3")	SQ YD	49,867	\$2.30	\$114,694.10	\$1.85	\$92,253.95	\$2.20	\$109,707.40	\$3.00	\$149,601.00
11	HOT-MIX ASPHALT SURFACE REMOVAL AND REPLACEMENT, 2", SPECIAL	SQ YD	5,475	\$27.00	\$147,825.00	\$15.50	\$84,862.50	\$16.80	\$91,980.00	\$20.00	\$109,500.00
12	PAVEMENT REMOVAL, 4"	SQ YD	10,261	\$3.75	\$38,478.75	\$3.50	\$35,913.50	\$2.55	\$26,165.55	\$4.00	\$41,044.00
13	PAVEMENT REMOVAL, 5"	SQ YD	8,187	\$4.65	\$38,069.55	\$3.90	\$31,929.30	\$2.55	\$20,876.85	\$5.50	\$45,028.50
14	PAVEMENT REMOVAL, 6"	SQ YD	2,203	\$5.75	\$12,667.25	\$4.25	\$9,362.75	\$3.25	\$7,159.75	\$6.00	\$13,218.00
15	PAVEMENT REMOVAL, 11"	SQ YD	424	\$15.00	\$6,360.00	\$7.00	\$2,968.00	\$5.65	\$2,395.60	\$10.00	\$4,240.00
16	BITUMINOUS MATERIALS (PRIME COAT)	GALLON	10,495	\$2.15	\$22,564.25	\$0.01	\$104.95	\$2.25	\$23,613.75	\$0.01	\$104.95
17	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50, 4.5 INCH	SQ YD	20,350	\$15.40	\$313,390.00	\$16.00	\$325,600.00	\$17.10	\$347,985.00	\$20.00	\$407,000.00
18	LEVELING BINDER (MACHINE METHOD), N50	TON	1,848	\$77.00	\$142,296.00	\$70.00	\$129,360.00	\$65.95	\$121,875.60	\$85.00	\$157,080.00
19	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	TON	6,088	\$72.00	\$438,336.00	\$69.00	\$420,072.00	\$68.65	\$417,941.20	\$79.90	\$486,431.20
20	CLASS D PATCH, SPECIAL, 6 INCH	SQ YD	345	\$55.75	\$19,233.75	\$36.50	\$12,592.50	\$44.60	\$15,387.00	\$5.00	\$1,725.00
21	CLASS D PATCH, SPECIAL, 7 INCH	SQ YD	922	\$65.00	\$59,930.00	\$41.00	\$37,802.00	\$42.90	\$39,553.80	\$5.00	\$4,610.00
22	CLASS D PATCH, SPECIAL, 8 INCH	SQ YD	322	\$74.50	\$23,989.00	\$45.00	\$14,490.00	\$51.75	\$16,663.50	\$5.00	\$1,610.00
23	CLASS D PATCH, SPECIAL, 9 INCH	SQ YD	429	\$83.75	\$35,928.75	\$51.00	\$21,879.00	\$51.00	\$21,879.00	\$5.00	\$2,145.00
24	CLASS D PATCH, SPECIAL, 11 INCH	SQ YD	87	\$102.00	\$8,874.00	\$65.00	\$5,655.00	\$58.00	\$5,046.00	\$5.00	\$435.00
	REMOVAL OF EXISTING STRUCTURES	EACH	30	\$225.00	\$6,750.00 \$21,160.00	\$130.00 \$105.00	\$3,900.00 \$19,320.00	\$125.00 \$50.00	\$3,750.00 \$9,200.00	\$125.00 \$50.00	\$3,750.00 \$9,200.00
26	INLET FILTERS	EACH	184	\$115.00	\$610.00	\$6.25	\$19,320.00	\$5.00	\$305.00	\$5.00	\$305.00
27	STORM SEWER REMOVAL, 8", SPECIAL	FOOT	61	\$10.00	\$120.00	\$7.35	\$88.20	\$6.00	\$72.00	\$6.00	\$72.00
28	STORM SEWER REMOVAL, 10", SPECIAL	FOOT	12	\$10.00	\$2,336.00	\$8.35	\$1,219.10	\$6.00	\$72.00	\$6.00	\$72.00
30	STORM SEWER REMOVAL, 12", SPECIAL STORM SEWER REMOVAL, 15", SPECIAL	FOOT FOOT	146 70	\$16.00 \$20.00	\$1,400.00	\$10.50	\$735.00	\$6.00	\$420.00	\$6.00	\$420.00
31	STORM SEWER REMOVAL, 15', SPECIAL STORM SEWER REMOVAL, 18", SPECIAL	FOOT	36	\$20.00	\$828.00	\$10.50	\$378.00	\$9.00	\$324.00	\$9.00	\$324.00
32	STORM SEWER REMOVAL, 18, SPECIAL STORM SEWER REMOVAL, 42", SPECIAL	FOOT	40	\$40.00	\$1,600.00	\$10.30 \$15.75	\$630.00	\$9.00	\$360.00	\$9.00	\$360.00
33	STORM SEWERS, CLASS A, TYPE 2, 10 INCH	FOOT	32	\$22.50	\$720.00	\$5.25	\$168.00	\$6.00	\$192.00	\$6.00	\$192.00
34	STORM SEWERS, CLASS A, TYPE 2, 10 INCH STORM SEWERS, CLASS A, TYPE 2, 12 INCH	FOOT	32	\$22.30	\$800.00	\$10.50	\$336.00	\$6.00	\$192.00	\$6.00	\$192.00
35	STORM SEWERS, CLASS A, TYPE 2, 12 INCH STORM SEWERS, CLASS A, TYPE 2, 15 INCH	FOOT	24	\$30.00	\$720.00	\$10.50	\$252.00	\$8.00	\$192.00	\$8.00	\$192.00
36	STORM SEWERS, CLASS A, 11FE 2, 13 INCH STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 10 INCH	FOOT	12	\$45.00	\$540.00	\$44.00	\$528.00	\$44.00	\$528.00	\$44.00	\$528.00
37	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 10 INCH STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 12 INCH	FOOT	236	\$47.50	\$11,210.00	\$47.85	\$11,292.60	\$44.50	\$10,502.00	\$44.50	\$10,502.00
	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 12 INCH	FOOT	24	\$55.00	\$1,320.00	\$54.70	\$1,312.80	\$49.00	\$1,176.00	\$49.00	\$1,176.00
50	5 TOKM BENEKS, KUDDEK GABKET, CEASS A, TITE 2, 13 INCH	1001	∠+	φ55.00	Ψ1,520.00	ψυτ./Ο	Ψ1,512.00	Ψ7.00	Ψ1,170.00	ψτ2.00	φ1,170.00

County	Cook											
-	\$3,254,042.80											
March 12, 2012 10:00 AM Attendees: Bev Romanoff, Mike Hankey, Marty Salerno, Gary Salavtich, Alan Wenderski (All VOHE)		ОНЕ)	PHE)		2012 STREET REVITALIZATION PROJECT - ENGINEERS ESTIMATE		Schroeder Asphalt Services, Inc. PO Box 831 Huntley, IL 60142		Arrow Road Construction Co. 3401 South Busse Road PO Box 334 Mount Prospect, IL 60056-0334		Johnson Paving 1025 East Addison Court Arlington Heights, IL 60005	
ITEM #	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
39	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 18 INCH	FOOT	27	\$57.50	\$1,552.50	\$57.20	\$1,544.40	\$53.00	\$1,431.00	\$53.00	\$1,431.00	
40	STORM SEWERS, TYPE 1, REINFORCED CONCRETE ELLIPTICAL PIPE, SPAN 45, RISE 29	FOOT	26	\$160.00	\$4,160.00	\$157.50	\$4,095.00	\$136.00	\$3,536.00	\$136.00	\$3,536.00	
41	SOLID PVC PIPE, 4 INCH	FOOT	15	\$20.00	\$300.00	\$21.00	\$315.00	\$23.00	\$345.00	\$23.00	\$345.00	
42	SOLID PVC PIPE, 6 INCH	FOOT	15	\$30.00	\$450.00	\$35.70	\$535.50	\$35.00	\$525.00	\$35.00	\$525.00	
43	SOLID PVC PIPE, 8 INCH	FOOT	15	\$40.00	\$600.00	\$48.30	\$724.50	\$38.00	\$570.00	\$38.00	\$570.00	
44	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 4 INCH	FOOT	894	\$22.70	\$20,293.80	\$17.30	\$15,466.20	\$17.00	\$15,198.00	\$17.00	\$15,198.00	
45	DIRECT CONNECTION TO STORM SEWER	EACH	1	\$550.00	\$550.00	\$840.00	\$840.00	\$750.00	\$750.00	\$750.00	\$750.00	
46	MANHOLES, 3 FOOT DIAMETER	EACH	3	\$1,900.00	\$5,700.00	\$1,785.00	\$5,355.00	\$1,670.00	\$5,010.00	\$1,670.00	\$5,010.00	
47	MANHOLES, 4 FOOT DIAMETER	EACH	4	\$2,300.00	\$9,200.00	\$2,500.00	\$10,000.00	\$2,215.00	\$8,860.00	\$2,215.00	\$8,860.00	
48	MANHOLES, 7 FOOT DIAMETER	EACH	2	\$6,000.00	\$12,000.00	\$5,650.00	\$11,300.00	\$5,225.00	\$10,450.00	\$5,225.00	\$10,450.00	
49	INLETS, 2 FOOT DIAMETER	EACH	17	\$1,100.00	\$18,700.00	\$1,050.00	\$17,850.00	\$1,025.00	\$17,425.00	\$1,025.00	\$17,425.00	
50	SANITARY SEWER REMOVAL, 4", SPECIAL	FOOT	40	\$15.00	\$600.00	\$9.45	\$378.00	\$6.00	\$240.00	\$6.00	\$240.00	
51	SANITARY SEWER REMOVAL, 8", SPECIAL	FOOT	125	\$15.00	\$1,875.00	\$9.45	\$1,181.25	\$6.00	\$750.00	\$6.00	\$750.00	
52	SANITARY SEWER, PVC SDR 26, 8", SPECIAL	FOOT	95	\$200.00	\$19,000.00	\$176.00	\$16,720.00	\$165.00	\$15,675.00	\$165.00	\$15,675.00	
53	SANITARY SEWER, DUCTILE IRON, 8", SPECIAL	FOOT	30	\$160.00	\$4,800.00	\$91.00	\$2,730.00	\$85.00	\$2,550.00	\$85.00	\$2,550.00	
54	SANITARY SERVICE CONNECTION, 4", SPECIAL	EACH	2	\$475.00	\$950.00	\$505.00	\$1,010.00	\$570.00	\$1,140.00	\$570.00	\$1,140.00	
55	SANITARY MANHOLES, 4 FOOT DIAMETER, (6' TO 10' DEEP), SPECIAL	EACH	5	\$4,500.00	\$22,500.00	\$4,410.00	\$22,050.00	\$3,650.00	\$18,250.00	\$3,650.00	\$18,250.00	
56	FRAMES AND GRATES, FOR M3.12 CURB	EACH	24	\$350.00	\$8,400.00	\$350.00	\$8,400.00	\$320.00	\$7,680.00	\$320.00	\$7,680.00	
57	FRAMES AND GRATES, FOR B6.12 CURB	EACH	19	\$375.00	\$7,125.00	\$365.00	\$6,935.00	\$340.00	\$6,460.00	\$340.00	\$6,460.00	
58	FRAMES AND GRATES SPECIAL, FOR B6.12 CURB	EACH	3	\$500.00	\$1,500.00	\$450.00	\$1,350.00	\$430.00	\$1,290.00	\$430.00	\$1,290.00	
59	MANHOLES TO BE ADJUSTED	EACH	83	\$315.00	\$26,145.00	\$231.00	\$19,173.00	\$210.00	\$17,430.00	\$210.00	\$17,430.00	
60	MANHOLES TO BE RECONSTRUCTED	EACH	10	\$800.00	\$8,000.00	\$682.50	\$6,825.00	\$700.00	\$7,000.00	\$700.00	\$7,000.00	
61	MANHOLES TO BE ADJUSTED, SPECIAL	EACH	8	\$460.00	\$3,680.00	\$515.00	\$4,120.00	\$500.00	\$4,000.00	\$500.00	\$4,000.00	
62	COMBINATION CONCRETE CURB AND GUTTER, M3.12	FOOT	7,570	\$12.25	\$92,732.50	\$12.10	\$91,597.00	\$10.50	\$79,485.00	\$12.00	\$90,840.00	
63	COMBINATION CONCRETE CURB AND GUTTER, B6.12	FOOT	9,187	\$13.50	\$124,024.50	\$12.35	\$113,459.45	\$12.00	\$110,244.00	\$13.00	\$119,431.00	
64	COMBINATION CONCRETE CURB AND GUTTER REMOVAL	FOOT	16,549	\$3.15	\$52,129.35	\$1.85	\$30,615.65	\$1.50	\$24,823.50	\$3.00	\$49,647.00	
65	COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL	FOOT	3,383	\$18.00	\$60,894.00	\$16.80	\$56,834.40	\$14.00	\$47,362.00	\$18.00	\$60,894.00	
66	DRIVEWAY PAVEMENT REMOVAL	SQ YD	3,782	\$11.00	\$41,602.00	\$8.40	\$31,768.80	\$11.65	\$44,060.30	\$5.00	\$18,910.00	
67	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	SQ YD	3,577	\$34.00	\$121,618.00	\$31.50	\$112,675.50	\$29.10	\$104,090.70	\$33.00	\$118,041.00	
68	SIDEWALK REMOVAL	SQ FT	42,775	\$1.20	\$51,330.00	\$1.00	\$42,775.00	\$1.00	\$42,775.00	\$1.00	\$42,775.00	
69	PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH	SQ FT	45,357	\$3.40	\$154,213.80	\$3.35	\$151,945.95	\$3.10	\$140,606.70	\$3.00	\$136,071.00	
	DETECTABLE WARNINGS	SQ FT	1,698	\$23.50	\$39,903.00	\$16.80	\$28,526.40	\$18.00	\$30,564.00	\$18.00	\$30,564.00	
71	CONCRETE FRONT FILL, SPECIAL	FOOT	1,585	\$1.50	\$2,377.50	\$6.30	\$9,985.50	\$1.50	\$2,377.50	\$1.00	\$1,585.00	
72	STABILIZED DRIVEWAY PAVEMENT, RESIDENTIAL	SQ YD	339	\$45.00	\$15,255.00	\$28.00	\$9,492.00	\$56.45	\$19,136.55	\$35.00	\$11,865.00	
73	STABILIZED DRIVEWAY PAVEMENT, COMMERCIAL	SQ YD	89	\$55.00	\$4,895.00	\$28.00	\$2,492.00	\$61.85	\$5,504.65	\$35.00	\$3,115.00	
74	SODDING, SPECIAL	SQ YD	10,881	\$7.90	\$85,959.90	\$6.00	\$65,286.00	\$7.25	\$78,887.25	\$7.50	\$81,607.50	
75	EROSION CONTROL BLANKET WITH SEED, SPECIAL	SQ YD	2,600	\$6.50	\$16,900.00	\$1.80	\$4,680.00	\$6.50	\$16,900.00	\$4.50	\$11,700.00	
76	EROSION CONTROL BLANKET WITH HIGHLANDS FESCUE SEED, SPECIAL	SQ YD	2,404	\$7.25	\$17,429.00	\$1.60	\$3,846.40	\$5.25	\$12,621.00	\$4.75	\$11,419.00	

County	Cook										
Estimate	Estimate \$3,254,042.80  March 12, 2012 10:00 AM Attendees: Bev Romanoff, Mike Hankey, Marty Salerno, Gary Salavtich, Alan Wenderski (All VOHE)		2012 STREET REVITALIZATION PROJECT - ENGINEERS ESTIMATE		Schroeder Asphalt Services, Inc. PO Box 831 Huntley, IL 60142		Arrow Road Construction Co. 3401 South Busse Road PO Box 334 Mount Prospect, IL 60056-0334		Johnson Paving 1025 East Addison Court Arlington Heights, IL 60005		
ITEM #	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
77	TREE ROOT PRUNING	EACH	165	\$58.00	\$9,570.00	\$58.00	\$9,570.00	\$50.00	\$8,250.00	\$52.00	\$8,580.00
78	THERMOPLASTIC PAVEMENT MARKING - LINE, 4"	FOOT	6,846	\$0.75	\$5,134.50	\$0.60	\$4,107.60	\$0.75	\$5,134.50	\$0.56	\$3,833.76
79	THERMOPLASTIC PAVEMENT MARKING - LINE, 6"	FOOT	5,330	\$1.50	\$7,995.00	\$0.94	\$5,010.20	\$1.50	\$7,995.00	\$0.85	\$4,530.50
80	THERMOPLASTIC PAVEMENT MARKING - LINE, 12"	FOOT	1,322	\$3.00	\$3,966.00	\$1.85	\$2,445.70	\$3.00	\$3,966.00	\$1.70	\$2,247.40
81	THERMOPLASTIC PAVEMENT MARKING - LINE, 24"	FOOT	465	\$6.00	\$2,790.00	\$3.75	\$1,743.75	\$6.00	\$2,790.00	\$3.40	\$1,581.00
82	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	866	\$6.00	\$5,196.00	\$4.40	\$3,810.40	\$6.00	\$5,196.00	\$4.00	\$3,464.00
83	PAVEMENT MARKING GROOVING, SPECIAL	FOOT	1,690	\$0.75	\$1,267.50	\$3.50	\$5,915.00	\$4.00	\$6,760.00	\$2.95	\$4,985.50
84	PAINT PAVEMENT MARKING - LINE, 4"	FOOT	301	\$0.50	\$150.50	\$1.25	\$376.25	\$1.25	\$376.25	\$1.16	\$349.16
85	PAINT PAVEMENT MARKING - LINE, 6"	FOOT	231	\$0.75	\$173.25	\$2.00	\$462.00	\$1.90	\$438.90	\$1.74	\$401.94
86	PAINT PAVEMENT MARKING - LINE, 24"	FOOT	253	\$3.00	\$759.00	\$5.00	\$1,265.00	\$5.00	\$1,265.00	\$6.96	\$1,760.88
87	SHORT TERM PAVEMENT MARKING	FOOT	6,171	\$0.75	\$4,628.25	\$0.45	\$2,776.95	\$0.60	\$3,702.60	\$0.20	\$1,234.20
88	STREET LIGHT CABLE ADJUSTMENT	FOOT	180	\$26.00	\$4,680.00	\$31.50	\$5,670.00	\$30.00	\$5,400.00	\$30.00	\$5,400.00
89	UNIT DUCT	FOOT	295	\$7.00	\$2,065.00	\$13.25	\$3,908.75	\$12.50	\$3,687.50	\$12.50	\$3,687.50
90	ELECTRIC CABLE IN CONDUIT, 600 V (XLP-TYPE USE) 3/C NO.6	FOOT	780	\$7.00	\$5,460.00	\$3.75	\$2,925.00	\$3.50	\$2,730.00	\$3.50	\$2,730.00
91	REMOVE ELECTRIC CABLE FROM CONDUIT	FOOT	780	\$3.00	\$2,340.00	\$1.10	\$858.00	\$1.00	\$780.00	\$1.00	\$780.00
92	REMOVAL OF SIGN FOUNDATION, SPECIAL	EACH	4	\$550.00	\$2,200.00	\$525.00	\$2,100.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00
93	PRAIRIE STONE SIGN FOUNDATION, SPECIAL	EACH	2	\$900.00	\$1,800.00	\$835.00	\$1,670.00	\$787.50	\$1,575.00	\$787.50	\$1,575.00
94	PRAIRIE STONE SIGN, SPECIAL	EACH	1	\$1,500.00	\$1,500.00	\$1,050.00	\$1,050.00	\$980.00	\$980.00	\$980.00	\$980.00
95	TRAFFIC CONTROL AND PROTECTION	LUMP SUM	1	\$65,000.00	\$65,000.00	\$57,000.00	\$57,000.00	\$46,926.80	\$46,926.80	\$79,000.00	\$79,000.00
96	MAINTENANCE LETTERS OF CREDIT	LUMP SUM	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
TOTAL	L BID As Read				\$3,254,042.80		\$2,732,037.15		\$2,821,845.00		\$2,965,286.49
TOTAL	L BID As Corrected			<u>-</u>		=	\$2,731,836.65		\$2,821,845.00		\$2,965,286.49

County	Cook					
Estimate	\$3,254,042.80  March 12, 2012 10:00 AM  Attendees: Bev Romanoff, Mike Hankey, Marty Salerno, Gary Salavtich, Alan Wenderski (All VC		nstruction, Inc. Brandt Drive Estates, IL 60192	A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		
ITEM#	ITEMS	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
01	EARTH EXCAVATION	\$19.25	\$122,314.50	\$28.00	\$177,912.00	
02	FURNISHED EXCAVATION	\$10.50	\$2,898.00	\$10.00	\$2,760.00	
03	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIALS	\$16.60	\$59,942.60	\$26.00	\$93,886.00	
04	POROUS GRANULAR EMBANKMENT	\$25.00	\$31,950.00	\$26.00	\$33,228.00	
05	SUBBASE GRANULAR MATERIAL, TYPE B, 6 INCH	\$6.45	\$146,563.35	\$5.00	\$113,615.00	
06	AGGREGATE, SPECIAL	\$16.75	\$72,494.00	\$15.00	\$64,920.00	
07	AGGREGATE FOR TEMPORARY ACCESS	\$5.00	\$6,160.00	\$15.00	\$18,480.00	
08	SUBBASE GRANULAR MATERIAL, 3 INCH, SPECIAL	\$1.00	\$1,585.00	\$5.00	\$7,925.00	
09	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	\$0.60	\$13,633.80	\$1.00	\$22,723.00	
10	VARIABLE DEPTH GRINDING, (0" TO 3")	\$2.10	\$104,720.70	\$2.50	\$124,667.50	
11	HOT-MIX ASPHALT SURFACE REMOVAL AND REPLACEMENT, 2", SPECIAL	\$21.75	\$119,081.25	\$24.00	\$131,400.00	
12	PAVEMENT REMOVAL, 4"	\$3.05	\$31,296.05	\$3.50	\$35,913.50	
13	PAVEMENT REMOVAL, 5"	\$3.75	\$30,701.25	\$4.00	\$32,748.00	
14	PAVEMENT REMOVAL, 6"	\$4.20	\$9,252.60	\$5.00	\$11,015.00	
15	PAVEMENT REMOVAL, 11"	\$16.00	\$6,784.00	\$10.00	\$4,240.00	
16	BITUMINOUS MATERIALS (PRIME COAT)	\$0.01	\$104.95	\$1.00	\$10,495.00	
17	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50, 4.5 INCH	\$16.40	\$333,740.00	\$28.00	\$569,800.00	
18	LEVELING BINDER (MACHINE METHOD), N50	\$75.50	\$139,524.00	\$74.00	\$136,752.00	
19	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	\$71.00	\$432,248.00	\$75.00	\$456,600.00	
20	CLASS D PATCH, SPECIAL, 6 INCH	\$50.00	\$17,250.00	\$45.00	\$15,525.00	
21	CLASS D PATCH, SPECIAL, 7 INCH	\$52.00	\$47,944.00	\$50.00	\$46,100.00	
22	CLASS D PATCH, SPECIAL, 8 INCH	\$55.00	\$17,710.00	\$55.00	\$17,710.00	
23	CLASS D PATCH, SPECIAL, 9 INCH	\$59.00	\$25,311.00	\$65.00	\$27,885.00	
24	CLASS D PATCH, SPECIAL, 11 INCH	\$61.00	\$5,307.00	\$85.00	\$7,395.00	
25	REMOVAL OF EXISTING STRUCTURES	\$125.00	\$3,750.00	\$300.00	\$9,000.00	
26	INLET FILTERS	\$130.00	\$23,920.00	\$100.00	\$18,400.00	
27	STORM SEWER REMOVAL, 8", SPECIAL	\$5.00	\$305.00	\$10.00	\$610.00	
28	STORM SEWER REMOVAL, 10", SPECIAL	\$6.00	\$72.00	\$10.00	\$120.00	
29	STORM SEWER REMOVAL, 12", SPECIAL	\$6.00	\$876.00	\$15.00	\$2,190.00	
30	STORM SEWER REMOVAL, 15", SPECIAL	\$6.00	\$420.00	\$15.00	\$1,050.00	
31	STORM SEWER REMOVAL, 18", SPECIAL	\$9.00	\$324.00	\$15.00	\$540.00	
32	STORM SEWER REMOVAL, 42", SPECIAL	\$9.00	\$360.00	\$35.00	\$1,400.00	
33	STORM SEWERS, CLASS A, TYPE 2, 10 INCH	\$6.00	\$192.00	\$40.00	\$1,280.00	
34	STORM SEWERS, CLASS A, TYPE 2, 12 INCH	\$6.00	\$192.00	\$45.00	\$1,440.00	
35	STORM SEWERS, CLASS A, TYPE 2, 15 INCH	\$8.00	\$192.00	\$50.00	\$1,200.00	
36	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 10 INCH	\$44.00	\$528.00	\$45.00	\$540.00	
37	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 12 INCH	\$44.50	\$10,502.00	\$50.00	\$11,800.00	
38	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 15 INCH	\$49.00	\$1,176.00	\$55.00	\$1,320.00	

County	Cook					
Estimate	\$3,254,042.80  March 12, 2012 10:00 AM  Attendees: Bev Romanoff, Mike Hankey, Marty Salerno, Gary Salavtich, Alan Wenderski (All VC	1100 I	nstruction, Inc. Brandt Drive Estates, IL 60192	A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		
ITEM#	ITEMS	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
39	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 2, 18 INCH	\$53.00	\$1,431.00	\$65.00	\$1,755.00	
40	STORM SEWERS, TYPE 1, REINFORCED CONCRETE ELLIPTICAL PIPE, SPAN 45, RISE 29	\$136.00	\$3,536.00	\$125.00	\$3,250.00	
41	SOLID PVC PIPE, 4 INCH	\$23.00	\$345.00	\$30.00	\$450.00	
42	SOLID PVC PIPE, 6 INCH	\$35.00	\$525.00	\$35.00	\$525.00	
43	SOLID PVC PIPE, 8 INCH	\$38.00	\$570.00	\$40.00	\$600.00	
44	PIPE UNDERDRAINS, FABRIC LINED TRENCH, 4 INCH	\$17.00	\$15,198.00	\$30.00	\$26,820.00	
45	DIRECT CONNECTION TO STORM SEWER	\$750.00	\$750.00	\$1,500.00	\$1,500.00	
46	MANHOLES, 3 FOOT DIAMETER	\$1,670.00	\$5,010.00	\$1,850.00	\$5,550.00	
47	MANHOLES, 4 FOOT DIAMETER	\$2,215.00	\$8,860.00	\$2,000.00	\$8,000.00	
48	MANHOLES, 7 FOOT DIAMETER	\$5,225.00	\$10,450.00	\$6,500.00	\$13,000.00	
49	INLETS, 2 FOOT DIAMETER	\$1,025.00	\$17,425.00	\$1,000.00	\$17,000.00	
50	SANITARY SEWER REMOVAL, 4", SPECIAL	\$6.00	\$240.00	\$20.00	\$800.00	
51	SANITARY SEWER REMOVAL, 8", SPECIAL	\$6.00	\$750.00	\$20.00	\$2,500.00	
52	SANITARY SEWER, PVC SDR 26, 8", SPECIAL	\$165.00	\$15,675.00	\$70.00	\$6,650.00	
53	SANITARY SEWER, DUCTILE IRON, 8", SPECIAL	\$85.00	\$2,550.00	\$80.00	\$2,400.00	
54	SANITARY SERVICE CONNECTION, 4", SPECIAL	\$570.00	\$1,140.00	\$2,000.00	\$4,000.00	
55	SANITARY MANHOLES, 4 FOOT DIAMETER, (6' TO 10' DEEP), SPECIAL	\$3,650.00	\$18,250.00	\$4,000.00	\$20,000.00	
56	FRAMES AND GRATES, FOR M3.12 CURB	\$320.00	\$7,680.00	\$350.00	\$8,400.00	
57	FRAMES AND GRATES, FOR B6.12 CURB	\$340.00	\$6,460.00	\$350.00	\$6,650.00	
58	FRAMES AND GRATES SPECIAL, FOR B6.12 CURB	\$430.00	\$1,290.00	\$500.00	\$1,500.00	
59	MANHOLES TO BE ADJUSTED	\$210.00	\$17,430.00	\$350.00	\$29,050.00	
60	MANHOLES TO BE RECONSTRUCTED	\$700.00	\$7,000.00	\$1,150.00	\$11,500.00	
61	MANHOLES TO BE ADJUSTED, SPECIAL	\$500.00	\$4,000.00	\$550.00	\$4,400.00	
62	COMBINATION CONCRETE CURB AND GUTTER, M3.12	\$13.00	\$98,410.00	\$13.00	\$98,410.00	
63	COMBINATION CONCRETE CURB AND GUTTER, B6.12	\$14.00	\$128,618.00	\$14.00	\$128,618.00	
64	COMBINATION CONCRETE CURB AND GUTTER REMOVAL	\$2.00	\$33,098.00	\$3.00	\$49,647.00	
65	COMBINATION CONCRETE CURB AND GUTTER REMOVAL & REPLACEMENT, SPECIAL	\$14.00	\$47,362.00	\$19.50	\$65,968.50	
66	DRIVEWAY PAVEMENT REMOVAL	\$12.00	\$45,384.00	\$10.00	\$37,820.00	
67	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	\$29.00	\$103,733.00	\$36.00	\$128,772.00	
68	SIDEWALK REMOVAL	\$1.10	\$47,052.50	\$1.00	\$42,775.00	
69	PORTLAND CEMENT CONCRETE SIDEWALK, 5 INCH	\$3.00	\$136,071.00	\$4.00	\$181,428.00	
70	DETECTABLE WARNINGS	\$32.00	\$54,336.00	\$20.00	\$33,960.00	
71	CONCRETE FRONT FILL, SPECIAL	\$2.00	\$3,170.00	\$2.00	\$3,170.00	
72	STABILIZED DRIVEWAY PAVEMENT, RESIDENTIAL	\$65.00	\$22,035.00	\$40.00	\$13,560.00	
73	STABILIZED DRIVEWAY PAVEMENT, COMMERCIAL	\$68.00	\$6,052.00	\$50.00	\$4,450.00	
74	SODDING, SPECIAL	\$7.75	\$84,327.75	\$7.00	\$76,167.00	
75	EROSION CONTROL BLANKET WITH SEED, SPECIAL	\$4.50	\$11,700.00	\$2.00	\$5,200.00	
76	EROSION CONTROL BLANKET WITH HIGHLANDS FESCUE SEED, SPECIAL	\$4.75	\$11,419.00	\$4.00	\$9,616.00	

County	Cook				
Estimate	March 12, 2012 10:00 AM Attendees: Bev Romanoff, Mike Hankey, Marty Salerno, Gary Salavtich, Alan Wenderski (All VC		onstruction, Inc. Brandt Drive Estates, IL 60192	1900 W	rete Contractors, Inc. right Boulevard burg, IL 60193
ITEM #	ITEMS	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
77	TREE ROOT PRUNING	\$69.00	\$11,385.00	\$125.00	\$20,625.00
78	THERMOPLASTIC PAVEMENT MARKING - LINE, 4"	\$0.56	\$3,833.76	\$0.80	\$5,476.80
79	THERMOPLASTIC PAVEMENT MARKING - LINE, 6"	\$0.85	\$4,530.50	\$1.60	\$8,528.00
80	THERMOPLASTIC PAVEMENT MARKING - LINE, 12"	\$1.70	\$2,247.40	\$4.00	\$5,288.00
81	THERMOPLASTIC PAVEMENT MARKING - LINE, 24"	\$3.40	\$1,581.00	\$7.00	\$3,255.00
82	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	\$4.00	\$3,464.00	\$7.00	\$6,062.00
83	PAVEMENT MARKING GROOVING, SPECIAL	\$2.95	\$4,985.50	\$5.00	\$8,450.00
84	PAINT PAVEMENT MARKING - LINE, 4"	\$1.16	\$349.16	\$1.00	\$301.00
85	PAINT PAVEMENT MARKING - LINE, 6"	\$1.74	\$401.94	\$2.00	\$462.00
86	PAINT PAVEMENT MARKING - LINE, 24"	\$6.96	\$1,760.88	\$6.00	\$1,518.00
87	SHORT TERM PAVEMENT MARKING	\$0.60	\$3,702.60	\$1.00	\$6,171.00
88	STREET LIGHT CABLE ADJUSTMENT	\$30.00	\$5,400.00	\$15.00	\$2,700.00
89	UNIT DUCT	\$12.50	\$3,687.50	\$10.00	\$2,950.00
90	ELECTRIC CABLE IN CONDUIT, 600 V (XLP-TYPE USE) 3/C NO.6	\$3.50	\$2,730.00	\$20.00	\$15,600.00
91	REMOVE ELECTRIC CABLE FROM CONDUIT	\$1.00	\$780.00	\$2.00	\$1,560.00
92	REMOVAL OF SIGN FOUNDATION, SPECIAL	\$500.00	\$2,000.00	\$500.00	\$2,000.00
93	PRAIRIE STONE SIGN FOUNDATION, SPECIAL	\$787.50	\$1,575.00	\$3,500.00	\$7,000.00
94	PRAIRIE STONE SIGN, SPECIAL	\$980.00	\$980.00	\$6,500.00	\$6,500.00
95	TRAFFIC CONTROL AND PROTECTION	\$114,000.00	\$114,000.00	\$200,000.00	\$200,000.00
96	MAINTENANCE LETTERS OF CREDIT	\$990.00	\$990.00	\$15,000.00	\$15,000.00
TOTAL	TOTAL BID As Read				\$3,589,893.30
TOTAL	L BID As Corrected		\$2,971,042.54		\$3,589,893.30